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devicetime meshsize latcode loncode 1latl lonl lat2 lon2 1 speed iri n suml
1431476406033 2 314168 1144522 35.77108 139.712233 35.771112 139.712401 15.5 7.291 8.61 48 0.413488
1431476501485 2 314172 1144530 35.77148 139.713347 35.771672 139.713313 21.5 6.035 3.55 70 0.248579
1431476501485 4 314172 1144528 35.77148 139.713347 35.771672 139.713313 21.5 6.035 3.55 70 0.248579
1431476501485 8 314168 1144528 35.77148 139.713347 35.771672 139.713313 21.5 6.035 3.55 70 0.248579
1431476501485 16 314160 1144528 35.77148 139.713347 35.771672 139.713313 21.5 6.035 3.55 70 0.248579
1431476504390 2 314174 1144530 35.771675 139.713312 35.77187 139.713264 22.2 7.319 2.52 84 0.211864
1431476504390 4 314176 1144528 35.771675 139.713312 35.772068 139.713232 44.1 7.679 2.63 169 0.444356
1431476504390 8 314176 1144528 35.771675 139.713312 35.772518 139.713135 94.1 8.256 4.29 363 1.558886
1431476504390 16 314176 1144528 35.771675 139.713312 35.773296 139.713135 180.1 7.788 5.19 731 3.790661
IEEORLR
devicetime oSO L TULERZ IRy IOMUTC [ms]
meshsize Xvwyat+14=X
== ~ ~ RNV TN
latcode BEXYY18ES DD T PAvya (Fi)
loncode BEXYYa18BES
==
latl | R | EEXEDRREIDEE
loni e
1at2 %gll\\1/\J0)%EJE:
lon2 e
1 XEE [m]
speed XEANEDRE  [m/s]
iri | R [mm/m] (= 1000 * suml / n)
n XEANT —IHEL
A=
suml XEANGET [m]



